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And ‘lamps’ from ‘lamp’ — =3 NN

OVERVIEW
X70m 21 states how we derive that y»nn np>72 is performed 9177 TIN5,
1. We derive 1x°¥» which is stated by ynn - (R¥»> 8% Rw) from ax°%n of Pria -
(V72377 R "3 won).
2. The aX°xn of 11°12 - (¥°227 R¥7M) is derived from w150 by %12 - (WDH’W).l
3. w90 by 1711 - (worm) is derived” from M1 of 77198 (MN12 2°Hw17° wWanK).?
4. The nmM1 of 710% - (MMa2 aRplARK wonR) 1s derived from "1 of Hwn - ("'
woi).”
This proves that finding y72n (AX°%n) is accomplished through a 71.
2

mooIN asks:

— 931 5793 XYY 9319 VIDN 19920 1D "IN S‘n\’)m
And there is a difficulty! For X707 27 should have stated that we derive woon

(of v >7711 52 woIn) from =1 (of 27X NAw1) and not MM (of 2°%w17°) from =1 (of
7R Nawl)!

N1B0IN answers:
— S9N IND NY UIDINT 929 W

And one can say; that the term w9°m, which is stated in the P09 of 27X nAw1 7 71
02 °771 95 woIr, is not [necessarily] referring to the 91 which is mentioned previously

" Steps 1&2 prove that 7x°¥n is accomplished through wis°n.

? The x»3 initially stated w2 ma wio°n, (this seemingly means) that we derive the w9°n of 172 from the w9°n of
oo (see WM a"7 >"wn). However the X3 omitted this step when it mentioned the details. See however
footnote # 8. See ‘Thinking it over’.

* The XM explains later (in the 7% of the >3 »27 Xin) that the oo of 22117 W9 alone is not sufficient since
perhaps the w19°11 there was not so thorough. Therefore it is necessary to cite also the w19°17 of 77 71

* Steps 3&4 prove that w12 is accomplished through a 21. The combination of 1 through 4 proves that 7x*%» (which
is accomplished through ©15°17) is achieved through a 7.

> See the (71X7) X"w1 who explains that there are really two questions here, one which is stated and one which is
self understood. The unstated question (which all the other M501n [including "9 Moo ,X"2WTT NBOIN and N1BOIN
w"xn] ask) is why the p105 of o°7w17° wIo N is necessary at all. We can derive w19°n of 112 directly from 917 w90
'n without resorting to 2°>w11>7 w19 n. However mooin does not explicitly ask this question; he merely assumes it (as
is evident from what m201n later concludes 21 Xnwin7 oW "N [see footnote # 9]). What n1v01n does ask is that just
as we derive (7°7°7) M (2°PwhT7) wion, similarly we should derive (102 371 %3) w9 from (7°7°7) 71 71, Why does
it state 71 NN, when it should have stated 1 w19°m?! [Alternately; we could derive wo°n of 222w from "121'7 13
"1 woIn. ]

% The 109 can be divided into two separate parts: D78 nawi ‘71 3, and additionally that 7 is 702 *177 2 won, but not
necessarily with the ('77) M1
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in the P09, Therefore we cannot derive w9°n (of 02 *371 22) from 11 (of TR NMAWI), since that 13
may not be tied in with vo°m.

mooIn anticipates a difficulty; if w2 *377 %3 wow is not referencing ' 71 then what relevance
doers the 109 of 131 77 71 have here. Mo01n explains:
— 9312 193 JIINY 7932 NONY DOTWI1NT YIDNN 937 WIDN P95 ¥ v 155

Therefore it should be explained differently’; that we derive the w2 n of '7) =2
(278 N1 from wipon of 25w, just as the 22w wo i is with n113, so too is the
102 1717 95 woIn with the 7 71,° and those mm1 (of 09w17°) are derived from ') =z
(31 W "AY; that just as the "7 71 is a proper W9, so too is the w1 of 29w

nooIN concludes:
—"m93 vwI9InT NP MINNY 7998 NNYNT 929V 'NN)

And it is now correctly understood that it is necessary to cite the 102 of wip°n

NYM2 (the P09 of MA12 2HWIN NR WHNR) -
$929 DN NNYI N 9T NIPA O N9

And the 05 of "\ 27X naw ' 91 is not sufficient to teach us that w91 is 713, since
from the 05 of "1 '71 71 it is not necessarily obvious that the "2 w17 was through the 91. It is
only after we derive from 2°5w17> w191 that it is mM132 that we can conclude that the 371 90 won
J02is also a12.1°

SUMMARY

We derive that yan np>72a is performed 2177 7K? in the following manner:
1. R0 AR0XA - (V9237 R0 - "2 R ) TIRW).

2. 7907 RN WD - (372277 R - " warm).

3. WD WD - (N 20 woIr ,wonx — " worry)'.

4. IR WD - (N33 2PN DR WHNK - "N 2o worn) ',

" n1am wo°n does not mean 7777 MAI 29WINT WI9°N but rather (2°9w11°T) NIA (02 70 90 WOWTT) WM.

8 It would seem that the "w"1' of W nn Wi (which the &3 did not detail) is referring (both to 2°%w1 X wony
and) to Jva 171 92 wo (that the w19 n of P32 is derived from both of them). This is not as we initially assumed that
wonn won is referring only to w9 n of 112 from wwn of 0wy, See footnote # 2. Then N v m is
referencing deriving w19°11 of J03 >3 %5 wow1 from N1N12 25w DR WONK, that just as the 222w WI19°n is with na,
s0 too is the w2 > %5 won with the 77 71

? See previous footnote # 5.

"% If not for the 0o of '7 71 we might think that N33 wonKX is not a thorough wo°n. If not for M 12 wanx we would
have not assumed that 02 *377 w9 is with a 93. The final T1°% seems to be from wWonX (presumably because it states
explicitly mn1a 02w X wonk), however we first need to prove that jva >771 25 won is with a 71 (by deriving it
from o°%w17> n3), in order to prove that °2w1° N171 is a thorough 7p°72 (by deriving it from w2 31 wow " 77 13).

' See footnote # 8 (we derive w191 of 1n°12 from both 0°5wyY wonk and 02 71 92 woIn.

2 See footnote # 7, teaching us that Ju2 *177 23 WO is 712,
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5.9 M1 - (7101 - W e o). P

THINKING IT OVER
Why indeed did the X3 not explain the meaning of W nn won?!™

" This teaches that the w9°n of N1712 2°9w1 was a thorough w19,
1 See footnote # 2, and noY WX
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